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POLITICAL SCIENCE
Paper - 11

Note : This paper contains hundred (100) objective type questions. Each question carries
two (2) marks. All questions are compulsory.

1. At the Union Government level, which 5. The Committee to recommend the name

one of the following is the principal

agency for preventing corruption ?

(A) Central Bureau of Investigation
(CBI)

(B) Central Vigilance Commission (CVC)

(C) Intelligence Bureau (IB)

(D) Research and Analysis Wing (RAW)

. Which regional political party played
the role of main opposition party in the
8" Lok Sabha ?

(A) Akali Dal
(C) DMK

(B) Telugu Desam
(D) AIADMK

. Citizen Charters Initiative was first
launched by

(A) Francois Mitterrand
(B) Jimmy Carter

(C) Margaret Thatcher
(D) John Major

. Which one among the following is not
a type of Government initiatives in
E-Governance ?

(A) Government to Citizen (G to C)
(B) Government to Women (G to W)
(C) Government to Business (G to B)
(D) Government to Employees (G to E)
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of Lokpal to the President of India
consists of

(A) Prime Minister, Union Law Minister
and Chief Justice of India

(B) Chief Justice of India, Speaker of
Lok Sabha and Union Law Minister

(C) Prime Minister, Chief Justice of
India and Speaker of Lok Sabha

(D) Prime Minister, Speaker of Lok Sabha
and Chairman of Rajya Sabha

. Which one of the following was added

to Indian Constitution through 73
Constitutional Amendment ?

(A) Part X and Eleventh Schedule
(B) Part IX and Tenth Schedule
(C) Part IX and Eleventh Schedule
(D) Part X and Ninth Schedule

7. Match List — I with List — I and select

the correct answer using the codes given
below.

List -1 List — 11

(Acts) (Year)
a. Right to Education Act 1. 1992
b. Right to Information Act 2. 2009
c. Consumer Protection Act 3. 2005
d. 73" Constitutional

Amendment Act 4. 1986
Codes :
a b c d
(A) 3 1 4 2
B) 4 1 2 3
<) 3 4 2 1
D) 2 3 4 1
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8. Given below are two statements, one

labeled as Assertion (A) and the other
labeled as Reason (R).

Assertion (A) : Panchayat Raj
Institutions were set up to decentralise

planning to village level.

Reason (R) : Village Panchayats are
in a better position to have a proper
appreciation of their development

needs.

In the context of the above statements,

which of the following is true ?
(A) Both (A) and (R) are correct and (R)

is the correct explanation of (A)
(B) Both (A) and (R) are correct, but (R)

is not the correct explanation of (A)
(C) (A) 1s correct, but (R) 1s not correct
(D) (R) is correct, but (A) is not correct

9. Which of the following is an instrument
of public policy ?
(A) Religion
(B) Legislature
(C) Law
(D) Free speech

10. ‘Criteria of conceptual goodness’ is a
concept referred to good governance

propounded by
(A) John Keats  (B) John Locke
(C) John Gerring (D) J. J. Rousseau
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11. Given below are two statements, one
labeled as Assertion (A) and the other
labeled as Reason (R).

Assertion (A) : The new economic

policies of India resulted liberalisation of

economy, simplifying regulations, giving

more role to private sector and opening

up of the economy to competition.

Reason (R) : The spurt in Foreign

Direct Investments (FDI) are result of

neo-liberal policies.

In the context of the above statements,

which of the following is true ?

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is
not the correct explanation to (A)

(C) (A)is true, but (R) is false

(D) (A) is false, but (R) is true

12. Given below are two statements, one
labeled as Assertion (A) and the other
labeled as Reason (R).

Assertion (A) : India consistently
refused to sign Discriminatory Non-
proliferation Treaty.

Reason (R) : This stand provided
legitimacy for India to go for peaceful
nuclear explosion.

In the context of the above statements,
which of the following is true ?

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is
not the correct explanation to (A)

(C) (A)is true, but (R) is a false
(D) (A) is false, but (R) is true
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13. Given below are two statements, one

labeled as Assertion (A) and the other
labeled as Reason (R).

Assertion (A) : The bill for reservation
for women in Lok Sabha and State
Legislative Assemblies is pending since
last two and half decades.

Reason (R) : Patriarchy dominates and
dictates Indian political process.

In the context of the above statements,
which of the following is true ?

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)
(B) Both (A) and (R) are true, but (R) is
not the correct explanation to (A)
(C) (A)is true, but (R) is false
(D) (A) is false, but (R) is true
14. Which one of the following State is the
first State to implement the fifty percent
reservation for women in Panchayat Ra;j
institutions ?
(A) Andhra Pradesh(B) Punjab
(C) Karnataka (D) Bihar
15. In which Articles of Indian Constitution

new Clauses have been added under 103
to Constitutional Amendment ?

(A) Articles 14 and 15
(B) Articles 15 and 16
(C) Articles 16 and 17
(D) Articles 17 and 18
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16. Consider the following statements with
regard to National Commission for
Backward Classes ?

1. First National Backward Classes
Commission was established by an
Act of Parliament.

2. Article 340 of Indian Constitution
facilitates the establishment of
Backward Classes Commission.

3. 103 Constitutional Amendment
gave constitutional status National
Commission for Backward Classes.

4. Bhagwan Lal Sahni is the Chairman of
National Commission for Backward
Classes.

Choose the correct answer.
(A) 2and 4 (B) 1,3 and 4
(C) 1,2and 4 (D) 4 only

17. Consider the following statements with
regard to Gorkhaland Movement.

1. The movement for a separate State
of Gorkhaland was started Gorkha
Janmukti Morcha.

2. Gorkha National Liberation Front
was led by Subhash Ghi Singh.

3. Darjiling Gorkha Hill Council was
established in 1988.

4. Elections to Gorkha Territorial
Administration were held in 2012.

Choose the correct answer.
(A) 1,2and 4 (B) 1and 4
(C) 1and 3 (D) 2,3 and 4
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18. Match List — I with List — II and select
the correct answer using the codes given

below.
List -1 List — 11
(Political Party) (Year of
Establishment)

a. Janata Dal (Secular) 1. 2000
b. Lok Jan Shakti Party 2. 1999
c. Samajwadi Party 3. 2001
d. Telangana Rashtra

Samithi 4. 1992
Codes :
a b ¢ d
A2 4 3 1
B2 1 4 3
<3 1 2 4
D3 4 2 1

19. Which of the following is not considered
as an element of National power ?
(A) Leadership
(B) National resources
(C) Party system
(D) National character

20. One of the following is NOT a founder
member of the ASEAN
(A) Thailand (B) Malaysia
(C) Philippines (D) Vietnam

21. Oneofthefollowingis NOT ageographical
determinant of India’s foreign policy
(A) Indian Ocean
(B) India-Pakistan Border
(C) Karakoram Mountains
(D) Nuclear Weapons
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22. “Tin Bigha Corridor” and “Teesta Water
Accord” are related to the following
countries

(A) India and Nepal

(B) India and Myanmar
(C) India and Bangladesh
(D) India and Bhutan

23. Which one of the following is the largest
nuclear power station in India ?

(A) Kaiga (B) Kundankulam
(C) Tarapur (D) Kakrapur

24. Indian Peace Keeping Force (IPKF)
was sent to Sri Lanka as the pact of the
following accord
(A) India-Sri Lanka Co-operation
Agreement signed by Prime
Minister P.V. Narsimha Rao and
President Chandrika Kumaratunga

(B) India-Sri Lanka Peace Treaty
signed by Prime Minister Indira
Gandhi and Prime Minister
Sirimao Bandarnaike

(C) India-Sri Lanka Peace Accord signed
by Prime Minister Rajiv Gandhi and
President J. R. Jayawardene

(D) India-Sri Lanka Military Agreement
signed by Prime Minister Rajiv
Gandhi and President Mahinda
Rajapaksa

25. Which of the following are the most
important concerns of India-Nepal
security relations ?

I. The China factor.
II. Drug trafficking and terrorism.
III. The Gorkhaland factor.
IV. The long open border between the
two countries.
Select the correct answer :
(A) Iand II are correct
(B) I, IT and III are correct
(C) I, I and IV are correct

(D) II, III and IV are correct
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26. Match List — I with List — II and select
the correct answer using the codes given

below.

List -1 List - 11
(Elements of (Examples)
National Power)

a. Natural elements 1. Bureaucratic
organisation
b. Political elements 2. Population

c. Social and

ideological elements 3. Foreign support

d. External elements 4. National Morale

Codes :

a b ¢ d
A2 1 4 3
B4 3 2 1
<) 3 1 2 4
2 3 4 1

27. Given below are two statements, one
labeled as Assertion (A) and the other

labeled as Reason (R).

Assertion (A) : Kautilya considers that,
in Trivarga Artha is the most important,
since both Dharma and Kama depended
upon it.

Reason (R) : State is the root of Artha
and for the King Artha should be more
important than Dharma and Kama.

In the context of the above statements,

which of the following is true ?

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is
not the correct explanation to (A)

(©) (A) s true, but (R) 1s false

(D) (A) is false, but (R) is true
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28. Who among the following advocated
“Passive Resistance” for the emancipation
of Indian Nation from the British
colonialism ?

(A) Bala Gangadhar Tilak
(B) Aurobindo Ghosh
(C) Swami Vivekananda
(D) V. D. Savarkar

29. Which among the following advocated
a partyless democracy ?
(A) M. N. Roy
(B) M. R. Masani
(C) Jawaharlal Nehru
(D) Dr. B. R. Ambedkar

30. The following doctrine of Gandhi aimed
at transforming capitalist order of society
into an equalitarian one

(A) Swaraj

(B) Trusteeship

(C) Civil disobedience
(D) Satyagraha

31. Consider the following statements.

1. Kautilya emphasised that the State
1S an organicism.

2. According to M. N. Roy the organised
democracy is based on the principle
of centralization.

3. ‘Democracy is another name for
equality’, said by Gandhi.

4. Aurobindo’s conception of theory
of State accounts for ‘reason’ as
the cause for the socio political
evolution of man.

Choose the correct answer.
(A) 4 only (B) 3and 4
(C) 2,3and 4 (D) 1,2 and 4
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32. Match List — I with List — II and select
the correct answer using the codes given

below.
List -1 List — 11
(Authors) (Books)
a. V. D. Savarkar 1. The Human
Cycle

b. Ram Manohar Lohia 2. Prison Diary
c. Aurobindo Ghosh 3. The Indian War
of Independence
d. Jayaprakash Narayan 4. Wheel of History
Codes :
a
(A) 4
B) 3
© 2
(D) 2

[SV T NG -
AW =N A
Ao W

1

33. Who among the following advocated
National Movement through strong
cultural and religious revivalism ?

(A) Subash Chandra Bose
(B) Dr. B. R. Ambedkar
(C) Bala Gangadhar Tilak
(D) J. L. Nehru

34. Who among the following is considered
as ‘spiritual anarchist’ ?
(A) Raj Guru
(B) Bhagat Singh
(C) Sri Aurobindo
(D) Lala Lajpat Rai

35. The philosophy of “radical humanism”
is associated with

(A) Antonio Gramsci

(B) M. N. Roy

(C) Raja RamMohan Roy
(D) Hebarmass
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36. Given below are two statements, one
labeled as Assertion (A) and the other
labeled as Reason (R).

Assertion (A) : Plato argues that
‘justice’ is the ultimate purpose of the
State.
Reason (R) : Discovering the principles
of justice was the central problem of
Plato’s Republic.
In the context of the above statements,
which of the following is true ?
(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)
(B) Both (A) and (R) are true, but (R) is
not the correct explanation to (A)
(C) (A)is true, but (R) is false
(D) (A) is false, but (R) is true
37. Match List — I with List — II and select
the correct answer using the codes given
below.
List -1
a. L. Kolaskowski 1.
b. Rachel Carson 2.

List — 11
The Second Sex

Main Currents of
Marxism

c. Simoe de Beauvoir 3. Silent Spring

d. Will Kymlicka 4. Multicultural
Citizenship
Codes :
a b ¢ d
A2 1 3 4
B)3 4 2 1
< 2 3 1 4
)1 4 2 3

38. How many seats are reserved for
Scheduled Caste members in the present
Lok Sabha ?

(A) 84
(C) 85

B) 79
(D) 82
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39. A Parliamentary Government cannot

40.

41.

operate without

(A) An Independent Judiciary
(B) A Written Constitution
(C) A Rigid Constitution

(D) Political Parties

The meetings of the Cabinet under
Parliamentary Form of Government are
presided over by

(A) The Senior most Minister

(B) The Speaker

(C) The President

(D) The Prime Minister

Match List — I with List — II and select

the correct answer using the codes given

below.
List -1 List — 11
a. Montesquieu 1. Federal
Government

b. Thomas Hare 2. Separation of

Powers

c. Hamilton 3. Rule of Law

d. A.V. Dicey 4. Proportional
Representation

Codes :

a b ¢ d

A2 4 1 3

@1 4 2 3

< 2 4 3 1

)3 1 4 2
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42. Given below are two statements, one

43.

44.

45.

labeled as Assertion (A) and the other

labeled as Reason (R).

Assertion (A) : Expansionistnationalism

seeks to go for all imperialisation.

Reason (R) : It is aggression

personified.

In the context of the above statements,

which of the following is true ?

(A) Both (A) and (R) are correct and (R)
is the correct explanation of (A)

(B) Both (A) and (R) are correct, but (R)
is not the correct explanation of (A)

(C) (A) is correct, but (R) is not correct

(D) (R) is correct, but (A) is not correct

Which State gives most importance to
the process of political socialisation ?
(A) Capitalist State

(B) Communist State

(C) Totalitarian State

(D) Anarchist State

Which one of the following is a feature

of modern comparative politics ?

(A) Focus on interdisciplinary
approach

(B) Emphasis on studying developed
countries

(C) Study of formal structures of
Government only

(D) Study of normative concerns

Which among the following are the
features of political culture in UK as
argued by Almond and Sidney Verba ?

(A) Heterogeneity, Discussion, Dissent

(B) Heterogeneity, Transparency,
Dissent

(C) Deference, Consensus and
Homogeneity

(D) Consensus, Homogeneity and
Dissent
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46. The most active forms of democratic 49. Match List — I with List — II and select
participation include the correct answer using the codes given
1. Formal enrolment in a political below.
party List -1 List - II
2. Canvassing and casting votes (Objectives) (Training)
3. Arrangements of booth capturing a. To acquire administrative 1. In-service
4. Participation in decision making skills through practice
process. b. To introduce an 2. Informal
5. Working in election campaign. appointee to the
Codes : basic concepts,
(A) 2 and 4 B) 1,2,4and 5 Oiifag‘g:‘fmon and
(€) 2,3,4and5 (D) 1,2,3and4 c. To prepare a prospective 3. Orientation
47. Consider the following statements about employee for public
political culture. service
(A) Political culture is the pattern d. To stimulate the employees 4. Pre-entry
of individual attitudes and to make them efficient
orientations towards politics Codes :
(B) Political culture is shaped by the a b ¢ d
general historical experience of
a country as also by the private a4 123
and personal experiences of the @2 3 4 1
individuals < 4 3 2 1
(C) Political culture consists of the system (D) 2 1 4 3
of empirical beliefs, expressive _ o o
symbols and values which define the S0. §a1d that civil Service 1s
situation in which political action a “professional body of officials,
takes place permanent, paid and skilled”.
(D) The type of culture in which all (A) Pfiffner (B) Max Weber
individuals are fully well aware (C) Finer (D) Gladden
of t.h.e structures 'and processes ,Of 51. Theclassical theory treats the organisation
political system is known as elite as
political culture
(A) A closed system
48. Which among the following countries
.. (B) An open system
joined BRICS last ?
(A) Brazil (B) South Africa (C) Both open and closed system
(C) China (D) India (D) Spoils system
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52. The classical theory is marked by these

features

(A) Impersonality, Specialisation,
Efficiency and Transparency

(B) Impersonality, Specialisation,
Efficiency and Hierarchy

(C) Authority, Discipline, Specialisation
and Efficiency

(D) Subordination, Specialisation,
Division of Work and Efficiency

53. Which of the following theory advocated
General Equilibrium ?

(A) Liberal theory

(B) Walras theory

(C) Theory of Economic Maturity
(D) Neo-classical theory

54. Which of the following is not a
philosophical approach to the study of
public administration ?

(A) The method of work of Bhagvad
Geetha

(B) Leviathan of Hobbes
(C) The Republic of Plato

(D) The Two Treatises on Civil
Government of Locke

55. Which of the following pairs are
correctly matched ?

1. Samuel Hunginton : Political Decay
2. Fred Riggs : Prismatic Society
3. David Easton : Civic Culture
4. David Apter : Political Modernisation
Codes :
(A) 1,2,3and4 (B) 3and4
(C) 1,2and 4 (D) 1,2and 3
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56. Match List — I with List — II and select
the correct answer using the codes given

below.
List -1 List - 11
(Authors) (Books)

a. Herbert A. Simon 1. The Papers on

the Science of

Public
Administration
b. Gullick and Urwick 2. Bureaucracy
c. Martin Albrow 3. Public
Administration
and Public
Policy
d. Henry Nicholas 4. Administrative
Behaviour
Codes :
a b ¢ d
(A) 4 3 2 1
B) 4 1 2 3
O 1 3 4 2
D)2 4 1 3
57. Given below are two statements, one

labeled as Assertion (A) and the other

labeled as Reason (R).

Assertion (A) : Structuralists make no

distinction between the national and the

international.

Reason (R) : The State system is

determined by the global capitalist

system.

In the context of the above statements,

which of the following is true ?

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is
not the correct explanation to (A)

(C) (A)is true, but (R) is false

(D) (A) is false, but (R) is true
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58. India and Russia had signed several

agreements in the year 2005. These
include

I. Space exploration cooperation
agreement.

II. Agreement on cooperation in the
field of solar physics.

Agreement on cooperation in the
field of nuclear weapons research
and production.

Agreement on implementation
of programme for military and
technical cooperation.

Select the correct answer :
(A) I and III are correct
(B) III and IV are correct
(©) I, I and IV are correct
(D) I, IIand IV are correct

I1I.

IV.

59. The connection between different

regions of the world, from the cultural to
criminal, the financial to environmental
and ways in which they change and
increase over time is termed as

(A) World system analyses

(B) International system

(C) Globalisation

(D) World politics

Which one of the following is NOT a
method of ‘Balance of Power” ?

(A) Divide and Rule

(B) Conventions

(C) Compensations
(D) Armaments

Who said, “In crucial situations, however
the ultimate concern of states is not for
power but for security” ?

(A) Thomas Schelling
(B) Peter F. Drucker
(C) Hans J. Morgenthau
(D) Kenneth Waltz
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62. The Rio Summit on environment was
held from

(A) 10 June to 21 June, 1992
(B) 3 June to 14 June, 1992
(C) 3 June to 14 June, 1995
(D) 3 July to 14 July, 1995

63. Match the international theories (List —1I)
and their important proponents (List —II )
and select the correct answer from the
codes given below.

List -1 List — IT

(Theories) (Proponents)
a. Realism 1. Robert Cox
b. Neo-Realism 2. Christine Sylvester
c. Feminism 3. Hans Morgenthau
d. Critical Theory 4. Kenneth Waltz
Codes :

a b ¢ d
A2 3 4 1
B)3 4 2 1
<4 1 3 2
)4 2 1 3

64. Given below are two statements, one
labeled as Assertion (A) and the other

labeled as Reason (R).

Assertion (A) : Globalisation has
undermined the relevance of nation-
state.

Reason (R) : No nation-state is still
relevant as nationalism continuous to
be a potent force.

In the context of the above two statements

which one of the following is correct ?

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)

(C) (A)is true, but (R) is false

(D) (A) is false, but (R) is true
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65. Arrange the following organisations
based on their years of establishment.
I. UNCTAD II. WTO
1. IBRD IV. GATT
Select the correct answer :

(A) I, I, IV and I1

(B) IIL, IV, I and II

(C) LUL IV and II

(D) IV, I, Tand II

66. Arrange the following US Presidential
doctrines in the chronological order
I. Regan doctrine
II. Trueman doctrine
III. Bush doctrine
IV. Carter doctrine
Select the correct answer :

(A) IV, I, Il and 11
(B) I, I, IIT and IV
(C) L 1L, IV and III
(D) 1L, IV, I and I

67. Structural adjustment refers to a policy of
(A) Industrial policy reforms, price
liberalisation, financial market
reforms, reduction and removal of
subsidies
(B) Balancing of exports with imports

(C) Transfer if 1% of the GNP
of developed nations to the
developing countries

(D) Balancing production and distribution
between developed nation-states and
developing nation-states

K - 0520

23

Total Number of Pages : 32

68. The Golaknath case with regard to
fundamental rights took place in

(A) 1964 (B) 1966
(C) 1967 (D) 1965

69. According to Election Commission of
India, a national party to be recognised
must get minimum of 6% of valid votes
registered in any during
Lok Sabha/Assembly elections.

(A) Four or more states

(B) 8% of the total valid votes
(C) Two or three states

(D) Three states

70. Judicial review in India is based on
(A) Procedure established by law
(B) Due process of law

(C) Rule of law

(D) Precedents and conventions

71. Prime Minister acts as a channel of

communication between the President
of India and the Council of Ministers is
provided by which Article ?

(A) Art. 70 (B) Art. 73
(C) Art. 78 (D) Art.75

72. The agenda of 16™ National Integration

Council was

(A) Communal violence

(B) Corruption

(C) Environmental problems
(D) Committed Bureaucracy

73. The Indian Parliament exercises control

on the audit of the budget through
(A) Estimate Committee

(B) Privilege Committee

(C) Public Accounts Committee
(D) Audit Review Committee
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Which Commission stated that “‘Financial

Administration is at the core of the
modern Government” ?

(A) R. S. Sarkaria Commission

(B) L. M. Singhvi Commission

(C) Lee Commission

(D) Hoover Commission

Match List — I with List — II and choose

the correct answer from the code given
below.

List -1 List - 11
a. Freedom of 1. Article 280
Religion

b. Distribution of 2. Atrticle 246
Legislative powers
between Union

and the States

c. Collective 3. Article 75(3)
responsibility to

Lok Sabha

d. Formation of
Finance Commission

4. Article 25

Code :

a b ¢ d
A4 2 3 1
B) 1 2 3 4
<) 3 2 1 4

M4 1 2 3

Which one of the following has been

wrongly listed as a justification for State

control or supervision over local bodies ?

(A) Control ensures greater efficiency
in Municipal services

(B) It keeps a check on powerful
local interests which may operate
against the common interests

(C) It provides necessary finances to
the backward areas for provisions
of welfare services

(D) It ensures diversity in Municipal
services
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Given below are two statements, one
labeled as Assertion (A) and the other
labeled as Reason (R).

Assertion (A) : The Indian Constitution
recognises the supremacy of Judiciary.

Reason (R) : The question as to what
constitutes a reasonable restriction on
fundamental rights is to be determined
by the courts of law.

In the context of the above two statements
which one of the following is correct ?

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)

(C) (A)1s true, but (R) 1s false

(D) (A) is false, but (R) is true

Which one of the following is NOT a
central belief of conservatism ?

(A) Tradition and authority

(B) Human perfection and property
(C) Organic society and hierarchy

(D) Human imperfection and organic
society

Who said “Democracy is that form
of government which the mass of
population possess the right to share the
exercise of the sovereign power” ?

(A) Gettel (B) Mosca

(C) Lindsay (D) Lord Bryce

“A successful revolt is a revolution ; a
failed revolution is a revolt”. Who said
this ?

(A) Lenin
(C) Karl Marx

(B) Stalin
(D) Aristotle
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81. Which one of the following feature of

modernisation has NOT been listed by
Robert Edward ?

(A) It aims at establishing a modern
society

(B) Itinvolves complete transformation
of political culture

(C) Modernisation and traditionality go
hand in hand

(D) It is based on rational distribution of
resources

82. Who among the following has raised the

issues of Sovereignty ?
(A) Moutland (B) Austin
(C) Figgs (D) Gurichy

83.

Which one of the following statements
is correct ?

(A) The legal sovereign is superior to
political sovereign

(B) The legal sovereign is inferior to
political sovereign

(C) The legal sovereign is equal to
political sovereign

(D) No relationship exists between
political and legal sovereign

84. Which of the following is attributed to

Dependency Theory ?

(A) It is structural Marxist Theory
(B) Itis non-Marxian Theory

(C) It is modernization Theory
(D) It is classical Marxist Theory
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85. Ernnest Mandel a Marxist scholar is
one of who argued about

bureaucracy.

1. Working class
2. Libertarian

3. Post capitalist
4. Fascist

Codes :

(A) 1 and 3 are correct
(B) 1 and 2 are correct
(C) 2 and 3 are correct

(D) 3 and 4 are correct

86. Given below are the two statements, one
labeled as Assertion (A) and the other
labeled as Reason (R).

Assertion (A) :

the individual consists in not being

Negative liberty of

prevented from attaining his goal by
other human beings.

Reason (R) : Freedom is absence of

restraints.

In the context of the two statements,

which one of the following is correct

answer ?

(A) Both (A) and (R) are true (R) is the
correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)

(C) (A)is true, but (R) is false
(D) (A) is false, but (R) is true

Paper 11



i

VR

87. am%‘“rmas Nowoaw@sog 33 FYNS
%

ée@%ﬁeﬁm 2ONE

1. 3Ine 62350333 LRINBRT, BRRBRT
TR R A, SRTNT.

2. wmqﬁre@ (Matter) é’bé@sd RO
ETOPINT.

3. w3083 ( aoém%)%) FRETITY F R @5
LOROCHR), FEAGRIE,

4. T3,009,38 (P8T00E) B985 5@50335%

TSRO,

R0CIRT GVZTRR) 503, BRA.
(A) 1,233  (B) 2,3 34
(C) 3334 (D) 1322

88. T3 -1 Rb B — 11 B e3r Zeodr 39K
Zbe&édoﬁ Noﬁeér{@?od RO eméddda
e:soja INR.

w%—l
(%a%osmfo)
a. @apdg}@p DR LOD 1.
%m@oé
b. IRFTFT WRFQ.
ATR03 ‘

ze3, — 11
(Be033)

0 5?156

3R0eETE

N

C. BRFT waw-.;@ 3.
f%moé

ToerE dﬁﬁfg

d. emdéw ~m03 4.
Noéesmfo v
a

(A) 4

(B) 4
3
1

e;gxzéo 2

©
(D)

NN WS
W = W N QL

c
1
1
4
4

89. SieaplsSy u@%ds@
(A) A, NTo (B) d%%)om

(C) =Smorotn (D) BRATERRID

Paper 11

28

Total Number of Pages : 32

90. mw;d To%BCO3) BOTOT WRT® @—’jmgo

WOBT e T ‘BED® 39,
TRTWODD.

(A) 1644 (B) 1641

(C) 1642 (D) 1743

91. eedReTRT oBSTisd Taa0sleoNn 83 38N

esvriolen] @m@éﬁmo@d% ?
(A) ©womBe* (B) mogz*
(C) mdeesa (D) %mﬁmdx‘"

92. @@mwés@eddd To%BEOW 3%%@93@
(A) I°)T TN e:sdmr%émdcb
(B) = m;@é TN QTIF ZBTER0
(C) mc3nens mone @ddm%ﬁmdcﬁa

(D) 508 Tome LeSmd

93. DT CIF T HTT RIRIRBI R, 23e0TLINS

pelelevey

(A) RoBRERBR) HerSoDd
BRCIRAPRIT)TO

(B) RoBnew 302) Sersndm)
ARIDONRITITO

(C) B3 R Y RoZrRed,
m@%%@%@dg

(D) HeTS50DR ZoERERE QTR TRRITD

94. B3 39803R0 0IRTL ‘oo QOO

BRI e T3easT IBTIOSIPNTS”
@omdé& ée@?m@d 2

(A) Feedme (B) Iner
(©) & & new (D) IRTF

K - 0520



87. Consider the following statements with

regard to Marxism.

1. Class structure is inherent to
feudal society.

2. Matter is the essence of the
universe.

3. Historical materialism represents the
scientific basis.

4. Dialectical materialism represents
the philosophical basis.

Select the correct answer.

Codes :
(A) 1,2 and 3 (B) 2,3and 4
(C) 3and 4 (D) 1and 2

88. Match the List — I with List — II and
choose the correct answer from the codes
given below.

List-1 List — 11
(Theories) (Authors)
a. Classical theory of 1. Alvin
Development Hansen
b. Marxist theory of 2. Schumpeter
Development
c. Theory of Economic 3. Karl Marx
Maturity
d. The theory of 4. Adam Smith
Entrepreneur
Codes :
a b ¢ d
A4 3 1 2
B4 2 1 3
<o 3 2 4 1
1 2 4 3
89. Aristotle was born at
(A) Stagira (B) Mycia

(C) Alexandria (D) Macedonia
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90. Hobbes first major work on politics

entitled ‘Decive’ appeared in
(A) 1644 (B) 1641

(C) 1642 (D) 1743

91. Plato’s thoughts were chiefly inspired by
(A) Aristotle (B) Pericles

(C) Socrates (D) Pythagoras

92. The political philosophy of Aristotle is
(A) Normative and ideal
(B) Scientific and critical
(C) Empirical and descriptive

(D) Imaginary and methodist

93. According to John Locke the object of

all human action is to

(A) To subordinate pleasure for pain
(B) Keep pleasure and pain equal

(C) To keep pleasure most of the time

(D) To subordinate pain for pleasure
94. Who among the following observed that

“State is the March of God on Earth” ?

(A) Plato (B) Hegel

(C) T. H. Green (D) Marx
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95. Consider the following statements with

regard to Rousseous’s Philosophy.

1. All individuals is the political
community should be involved in
the law making.

2. People themselves would be the
sovereign authority.

3. There is a distinction between the
State and the community.

4. There is a distinction between the
Government and the people.

Select the correct answer :

Codes :
(A) 1and 2 (B) 1,3and 4
(C) 3and 4 (D) 2and 4

96. Given below are two statements, one
labeled as Assertion (A) and the other
labeled as Reason (R).

Assertion (A) : Plato is an ideal
philosopher.

Reason (R) : This is proved through
Aristotle’s Philosophy.

In the context of the above statements,
which of the following is true ?

(A) Both (A) and (R) are correct and (R)
is the correct explanation of (A)

(B) Both (A) and (R) are correct, but (R)

is not the correct explanation of (A)
(C) (A) is correct, but (R) is not correct
(D) (R) is correct, but (A) is not correct

(97 - 100) Read the passage carefully and
answer to the below given questions.

Woodrow Wilson says that successful
bureaucracies are those in which executives
have a clear mission with identified tasks to
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achieve that mission. He suggests that agencies
entrusted with clear objectives and high levels
of autonomy have more chances to meet the
stated goals. For this, Wilson recommends
reorganisation of bureaucracy through
deregulation. This process of reorganisation
in any governmental organisation has to be a
continuous feature political process. But this
never happens on regular basis, dispute the
demands for it get manifested in the public
agendas. The reason central to this issue is
‘politics-administration’ dichotomy. Thus, in
several cases, the efforts at reorganisation have
not succeeded due to political difficulties.

97. A successful executive should have
(A) Good training
(B) A clear mission
(C) Commitment
(D) Domain knowledge

98. An agency would succeed in achieving
its goals provided it has

(A) A centralised authority

(B) A committed political will

(C) High levels of autonomy

(D) Highly qualified leadership

According to Wilson, a government
organisation should be

(A) Continuously reorganised

(B) Increasingly centralised

(C) A long lasting one

(D) Politically organised

99.

100. Absence of regular reforms bureaucracy
are due to

(A) Fear of continuous training

(B) No demands from public

(C) Lack of adequate personnel

(D) Political difficulties
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